Derivadas
Halla la funcion derivada de las siguientes funciones reales de variable real:

1) y=5x* —6x°+3x—8x 7 +4x°+9 SN 5 y'—-30x° -18x* +3+16x°-20x°

2) y=(3x"+2x’ _1)5 S,y = 30X (2x +1) (3" +2x° —1)4
3) y= _X2 +4 Solucion y o 2X(9X2 +50)
(3X2 —2)4 (3X2 _2)5
1 11 ) > 1 4
4 = — -12 Solucién __ 4=
) 2x* 3x3+4x—3 y X5+X4 (4x—3)2
5) 2(2X—3)4 sowin 1 52(2x-3)’
X+5 (x+5)°
6
6) y= X -1 7 Solucién y'= 63x (X3 _1)
X' +2 (¢ +2f
_ 3 2(21x* —60x -1
7) y= 2X—54 Solucién y'=— ( : )
(\."BX2 +1) (3X2 +1)
8) y=5"-73"+5 _Sowitn_, y'—5%In5+14-3%In3
9) y:73x275x +8x—2 Solucién y':(GX—S)-73x275X |n7+8
10) y =(6x—5) -+ —otn gt =362 (12%° ~ 10X + 6x—3)
11) y= e Solucién y'= e5x—1(5x+9)
X+2 (x+2)
olucion . 6x(2x-1
12) y =log, (4x3 —3x? +7) _solucitn e o (_3)(2 +)7 log, e
2X+7 - XZ +7x-5
13 — | Solucién _
)y=hn X’ +5 y (x2+5)(2x+7)
14) y = In(X+2) Solucién y,:l—ln(X+2)
X+2 (x+ 2)2
15) y = log(x*10%") Solwcion_yy1 3x+ i loge
16) y = cos(3x* +4) Sy~ _xsin(3x° +4)
17) y =sin (5X3 _3) Solucién y'=15x° COS(5X3 _3)
18) y =e*"* cos x S, y'= "% (cos X —sin x)
19) Y=tan(2X_1j —Soludon_y -y l . {1+tan2[zx_lﬂ
X+3 (x+3) X+3
- 3 2(21x* —60x—1
20) y = 2X—54 Solucién y o ( i )
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